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Name the plant that is used to treat blood

pressure and is found only in India.

T Y T ATH TG T AN THAT
Sa=Te 3 R B StraT § S Fae A #
AT AT B

(A)Jamun (A) ST
(B) Kachnar (B) F=ATL
(C)Babool (C) FI=
(D)Sarpagandha (D) =rTEm
2. Where is shrine (Dargah) of Khwaja AT AR et F awg et ue fud 87?
Muinuddin Chishti located?
(A) Gulbarga (A) =T
(B) Lucknow (B) @S
(C)Delhi (C) faeeht
(D)Ajmer (D) sr<TAT
3. Maharashtra Government has declared TR THTE 7 2AT0 ek & T T & P
Thane Creek Area as a sanctuary for o sresren e [ERIEY
(A) Flamingos (A) T (FATTAT)
(B) Gharials (B) =feaTr
(C)Pelicans (C) srf¥iE (o)
(D) Trout (D) gr=e
4. The second capital of Maharashtra is TETTY T g AT §
(A)Nagpur (A) FTTIT
(B) Pune (B) T
(C)Kolhapur (C) FrerTI®
(D)Nashik (D) =fers
5. Which one of the following books is in the forer & & i &7 TEa, A9 g e 2015 &
Shortlist for the Man booker prize 20157 aitéferee # 7
(A) A Brief History of Seven Killings AT i REdT o EERNEIEAE]
(B) The Green Road (B) T T
(C)The Year of the Runaways (C)% £ 91 T THAA
(D) The Moor's Account (D) & qTH TS
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6. Tana Movement was started by 6. T iR A o= B are
(A) Tilka Manjhi (A) TrererT Hisft
(B)Birsa Munda (B) fawam quer
(C)Jatra Oraon (C) =T 3%
(D)Kanhu (D) =17g
7. Which of the following languages is not a 7. T A A A o 2 wrerafiar w7 s
part of the Dravidian Group of Languages? T LG
(A) Tamil (A)afie
(B) Telugu (B) L
(C)Malayalam (C) s
(D)Konkani (D) iy
8. Where was the first International Earth 8. wurw SAEigr gt foraw weier TRl g AT?
Summit held?
(A)Kyoto (A) FrET
(B)Rio de Janeiro (B) fr 2 smifiay
(C)New Delhi (C) 7% ety
(D)New York (D) ==tH
9. Ramacharitmanas was written by 9. wwEREH™H F o ¥Tar # 4
(A)Ved Vyas (A) 3T =™
(B)Maharshi Valmiki (B) Wt aTeeiifin
(C)Mahakavi Kalidas (C)wETHfar Freftamer
(D)Goswami Tulsidas (D)rearHt gerefrarer
10. Under whose leadership did the Ulgulan 10. SO siidrer s Fqeq # ey EEIR I
Movement start?
(A) Tilka Manjhi (A) farererr #i=ft
(B) Birsa Munda (B) fazwm quer
(C)Martyr Sahid Lal (C) otz emfE =t
(D)Bhukan Singh (D) = fig
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11. Which of the following laws prohibits 11, = ¥ e o 3 sita AT S fae
workers from leaving the tea gardens gy 35 e 3 At g v FfE 82
without permission?

(A) Cripps mission (A) foro e

(B) Government of India Act, 1935 (B) 9T HTHTL afafRaw; 1935
(C)Inland Emigration Act, 1859 (C)zrve wHier srfafaaw, 1859
(D)Government of India Act, 1858 (D) wTea weT srfafaa, 1858

12. Name the planet that is approximately 12. TE T FT AT FATH, ST GLST | AAT
150 million km away from the Sun. 150 fafer Btz &1
(A) Mercury (A) 5
(B) Venus (B) T
(C)Earth (C) =T
(D)Mars (D) Wt

13. Which of the following articles declares India  13. e § F H AT AgEE WA F TS T
as a “Union of States”? e TS T 82
(A) Article 1 (A) =2 1
(B)Article 9 (B) 3= 9
(C)Article 23 (C) e == 23
(D)Article 360 (D)srT=== 360

14. Which of the following is the longest 14, Tmferfea # & ®i &1 UF 90 I AT
National highway in India? TTERT TS §2
(A)NH1 (A) Ta.u= 1
(B)NH3 (B) TA.T= 3
(C)NH5 (C) wAT=5
(D)NH7 (D) TA.g 7

15. The first form of crypto currency is 15, THCET T 6T TIH FI FI1 82
(A) Bitcoin (A) feremizT
(B) Chip Based Credit Card (B) for wwenfya w3z A2
(C)Virtual Credit Card (C)aur ez F18
(D)E Wallet (D) £ atete
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16. What is the objective of NSSO?

(A) Supports public policy formulation not
only through research, but also through
representation of faculty in various
committees and commissions of the
Central and State governments.

(B) To provide statistical and other
information for the purpose of state or
national planning and policy
requirements.

(C)To provide efficient credit delivery
system in rural areas.

(D) Provides facilities for and encourages
research in economics at global,
regional, national and state levels.

17. The Governor of a State reports to the

(A) Chief Minister of the State

(B) Prime Minister of India

(C)President of India

(D) Chief Justice of India

18. Kartik Chandran has been awarded

MacArthur Fellow Genius Grant, 2015. He is

a professor of

(A) Soil and Water Conservation

(B) Earth and Environmental Sciences

(C)Dams and River Flow

(D)Building and Road science

16. TA.TH.TH.A (NSSO) FT T FATE?

(A)HW teTl GTT Ao g 9 T
Wrﬁ'ﬁfaﬁmﬁﬁ'!ﬁaﬁ'(aa'ﬁwﬁﬁ
HHTT & AT e ¥ AT & ATESAE
Sifr Frtor 7 FHEA &0

(B)%’QTHT@?WH?\:\%WQW@?%
ﬁsv%ﬁrqq‘r%ﬂ?ﬁﬂ@'{mmrﬁ
JaT FLATI

(C)uﬁwaﬁﬁﬁmmﬁ?{wmw
FHCATI

(D)érf?avﬁ,aaﬁu,wéﬁaaﬁvmwﬁv

ﬁamﬁa@w%qgﬁmaﬂtm
T FCAT|

17. e T  fer wAR A ROE F 82
(A) 7T 3 AT
(B) T 3 SEITTHAT HT
(C)+Ta % Tgufd F
(D)Wa:g@wﬁﬁﬁ

18. FITTF =z F1 AFeAST el S{AE AL, 2015
@rw%mw%nag%q%sﬁw%?

(A) g&T T ST HTEAT

(B) TeAT 7 Tataw &A=
(C) ater 7 7T TATE

(D) o= = q=F faw
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19.

20.

21

GPS aided GEO navigational system for
better management of airlines has been
developed by ISRO and AAI. It goes by the
Acronym :

(A) AKASH

(B) GAGAN

(C)SKYPE

(D)HAWA

The 'Write India' Campaign, with which
many famous Indian authors, like Preeti
Shenoy and Amish are associated, is an
initiative by

(A) The Times of India

(B) The Indian Express

(C) The Economic Times

(D) The Hindu

A famous actor who played Spock in the
franchise Star Trek, passed away on
FEB 27, 2015. What is his name?

(A) William Shatner

(B) Leonard Nimoy

(C)DeForest Kelley

(D)James Doohan

. TEU (ISRO) & T.U.3E (AAI) FTT TITATEH &

Fga¥ vauw g ST H. 0 ggrEar (GEO)
FTETee (3 srarr) ottt Bt £ T f)
=9 farey oAt sreg & StraT STaT 272

(A) AKASH

(B) GAGAN

(C)SKYPE

(D)HAWA

. 'Trge T sl S g fifs et i

FHIT A TgT A IS AG@F IS U, TH A
et wge &7

(A) = zrEw At ST
(B) @ g wasH
(C)= THiATH zrewe
(D) z g

. ag wiag afearn, i ey =R iF §

aqte 1 g arar € oft, et FEB 27,
2015 ® e 21 79| IR AT F4T 82
(A) faferam erem

(B) foram=ie Rt

(C)fewrees =ly

(D)t Sree

22. What is the time period of Twelfth Five Year FIEAT Tt AT T THT-A T FAT F?
Plan?
(A)2010-2015 (A) 2010-2015
(B)2012-2017 (B) 2012-2017
(C)2014-2019 (C) 2014-2019
(D)2007-2012 (D) 2007-2012
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23. Which language of Maharashtra is critically
close to extinction?
(A) Mehali
(B) Sidi
(C)Majhi
(D)Dimasa
24. Yakshagana is a folk theatre form of which
of the following states?
(A) Karnataka
(B) Kerala
(C)Tamil Nadu
(D)Andhra Pradesh
25. Who among the following was the first to
adapt western-style clothing when it came
into India in the nineteenth century?
(A) Muslims
(B)Bangali
(C)Parsis
(D) Dalits
26. The All-India Khilafat committee was
founded by
(A)Maulana Mohammad Ali
(B) P. Kalifulla
(C)Badruddin Tayabji
(D)Abul Kalam

23.

24.

25,

26.

Wﬁ?ﬁwvﬁwmﬁ'{w%qﬁ@%%
FATE IT {72

(A) Tt

(B) Rt

(C) wr=tt

(D) femTET

T T IS T S0 (AU ST 272

(A) FATeT

(B) F=

(C) arfeTg

(MEPEE

Fefrerdt ot & @ A & qreAre oA F
TRETT AT AT I TR Teg SR FLA AT
ST &I A?

(A) i

(B) =Tret

(C) wreEt

(D) =fer

stfrer STCT FaeTRa FHE % TEATTF FIT A?

(A) HIETHT HIgFAE AT
(B) . Ffergeer

(C) FEEEI qZAEST
(O} ST e
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27. Viticulture is
(A) Growing vegetables, flowers and fruits
for commercial use
(B) The science and art of cultivation of the
soil, raising crops and rearing livestock
(C)Breeding fish in specially constructed
tanks and ponds
(D) Cultivation of grapes
28. Name the field in which M.R. Poovamma
has won an award in 2015?
(A) Carnatic Music
(B) Tamil Literature
(C)Athletics
(D)Wrestling
29. A coalition government is
(A) A temporary alliance for combined
action, especially of political parties
forming a government
(B) Division of power between a strong
national government and smaller local
governments
(C)A social group of any size whose
members reside in a specific locality,
share government
(D)Power shared among different organs of

government

27. Tafegese (zvem F0) & o1 747 G982
(A) aTTerfSares g % fore afesat, ©r o o
ELIEI
(B) ot 7 fraraTe 5w 1 fawe 7 e, wEe
AT ST 7L T

(c)fadre == & ffifa &t 7 qrerat § w=et
EEELH

(D) SRIT T TfT AT

28. TH.HT. TETHT A 2015 F A e § TR
afSta frm &7
(A) FTehT TR
(B) afirer arfRer
(C)a=Ez
(D) Fedt
29. THEET TTHTT H AT FAT THHAT 87

(A) T =T & e TR T B A AT
TS et 1 HEF FTHATE F [0 T
FEATE HaET

(B)@Wwwaﬁr@-&@mﬁu
TR % ST FT farersre

(C)ﬁ?ﬁsﬂwm@wﬁmmﬁmﬁ%
Taer uF fafdrg o § €, /9 A
TATAT FT 8

(Dyaw ¥ Taflrer st ¥ = |veft fit 1€ 7=
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30. Recently, what rare celestial events did the 30. grer & §, Arar T 7 T AT IgaTer
telescopes of NASA capture through Solar (T STEATRE dtawaedl) F AT I I HT
Dynamics Observatory? T AT AT F FoE AT aT?
(A)A Double Eclipse N EcE k]
(B)A Nuclear Eclipse (B) =TT ZiHerH
(C)A record breaking Solar Flare (C) T FraptE dree o HeT FT
(D)A Super moon Eclipse (D) UF X T AT
31. Which of the following organs DOES NOT 31, Famfefe & & i &7 T W qEAr I
belong to human female reproductive SToTTeAt & e T €7
system?
(A) Placenta (A) AT
(B) Uterus (B) wrttera
(C)Ovary (C) srv=Te T
(D)Vas deferens (D) srFaTTRAT
32. Rancidity can be defined as oxidation of fats ~ 32. AT T AT F A 3 AR F €A
and oils that changes afverrfire f s awa &, e
(A) Only the taste of food (A) ST 3 e T AT E
(B) Only the smell of food (B) T i 3 ey AT
(C)Both taste and smell of food (C) SIS T TTE 7 el AT A<l g
(D)Only the color of food (D) #ISIFT 7 FaAet T FTAA &
33. Ammeter is a device that measures 33. uwHfex FE AR, S ____ T {TIAT 8
(A) electric potential difference between two (A)TH ﬁ% Tt 21 fofgel & 4 IEEG]
points in an electric circuit e 5 ;

(B) electric current in a circuit only (B)W T gihe & e B

(C) the strength and direction of a magnetic QB w a—?r LA ? e
: (D) UF AfHe F 1T Tt e o TFEEE
field only 2 Y AT

(D)both electric current in a circuit and
strength of a magnetic field
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34.

35.

36.

37.

Which of the following is TRUE about
Pancreas?

(A)Pancreas is a part of only the endocrine
system

(B) Pancreas secretes only insulin hormone

(C)Pancreas is a part of both digestive and
endocrine system

(D)Pancreas secretes reproductive
hormones

Which of the following reproduces through

budding?

(A) Plasmodium

(B) Amoeba

(C)Yeast

(D)Paramecium

Which of the following organelle hosts the

breakdown of pyruvate into CO2, H,O and

energy, in plants?

(A) Nucleus

(B) Cytoplasm

(C)Mitochondria

(D) Chloroplast

X'is a yellow powder and has pungent odour

if left open in air. It disinfects drinking water.

It is prepared by reacting slaked lime with

chlorine gas. Identify X.

(A)CaCOs3

(B)CaCl»

(C)Ca(OH),

(D)CaOCl;

34.

35.

36.

37.

5 & & =19 a7 v oA A & ad 27

(A) Fa ST TOTTEAt 67 T AT 2
(B) Fae o ol #T avfad #edt 8
(C)uT= S Siq: =TT ST T U 9T 8
(D) TSI ETHIH T AT FLAT &

Frer & & e afS (qerete) & ameaw & A
T STaT 27

(A) =ATSHIRTH

(B) srfta

(C) #re=

(D) drfa s

Freforfea & & #9 |7 sitifae ddi & CO,,
H20 i St # qTe%ae F =797 & arfg
FLATE?

(A) T ()

(B) FrirwTsen (ATZEreeTT)

(C)FHTorHT (ATEErHifEam)

(D) gftera (FeiieeTee)

X e 47 &7 U Uree g e AR @ gar &
e g T S & |1 zad & fyeor o s
B TE T F Tt Y e w7 81 7
FTiReH T ¥ FO T & wfafET w8 da
e srar 81 X Y ge=TT w6

(A)CaCOs

(B)CaClz

(C)Ca(OH)2

(D)CaOCl;
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38.

39,

40.

41.

When some electrons are added to an
uncharged object, the object

(A) becomes positively charged
(B)becomes negatively charged
(C)remains uncharged
(D)gets damaged
Which of the following enzymes takes partin
protein digestion inside the stomach?

(A) Lipase

(B) Cellulase

(C)Lysozyme

(D)Pepsin

What would be the amount of electric
charge flow across a circuit, when 0.75 A
current is drawn by filament of an electric
pulb for 5 minutes?

(A)220C

(B)300C

(C)225C

(D)210C

Which of the following traits is NOT a part of
Mendel's seven contrasting traits in Green
pea?

(A) Yellow and green colour of seed

(B) Tall and dwarf height of the Pea plant
(C)Smooth and rough stem

(D) Terminal and axial flower

38.

39.

40.

41.

1 Pt st 7 ¥ e SR S 9
g arag
(A)Wwﬁaﬁﬁﬁ@mﬁ%
(B)Wmﬁwﬁﬁ@aﬁﬁ%
(C)zrfafda &t &

(D)eferred & 9Tl &
ﬁaﬁaﬁﬁmm%%wm%
e oTtae grat 87

(A) AR

(B) AT

(C)FTEATSTEA

(D)ufeae

<o By Tz s ¥ Reerrie 7177 5 FE
o 0.75 A 7 i fora o &, A g e
e Prer s i s Pt @

(A)220 C

(B)300 C

(C)225C

(D)210C
ﬁvﬁf@ﬁﬁﬁﬁwmwa&m@mﬁﬁéﬁ
¥ w7 T3 TS T AT TR &7

(A) #rer o e & g1 T
(B)m%qﬁ@rsﬁaﬁ"raﬁraﬁ”ﬁﬁ

(C) T 9ir ey A

(D) frerrarett (zfieen) s swefia (TRTT) F
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42. Which of the following is TRUE about 42, TAwfefe & & #t7 o1 0 sreahd F A d
diaphragm? T2
(A) The diaphragm is arched in normal (A) STEATHRH AT FATIA W%
expiration (B) =TEATHH WA HHTAA ¥ faifed &
(B) The diaphragm is perforated in normal (C) STEATHH HTHTT AT § AT §
expiration (D)=TEATH ATHT HHTIA § q&edl T8l &

(C) The diaphragm is flattened in normal
expiration

(D) The diaphragm doesn’t change in normal

expiration
43. Bio gas is also known as 43. FrI | & e st A o ST St g2
(A)Helium gas (A) Efer =
(B) Carbon gas (B) e
(C)Gobar gas (C)TraIT e
(D)Ethane gas (D) =37 F=r
44. Which of the following is true about bisexual  44. 5% & & 7 a7 wF IwAtertt Tt F & # @
flowers? 27
(A) They contain carpels only (A) SH Faer deT _@_“‘T %
(B) They contain both stamens and carpels (B) 3 W 4T U AT @%f g
(C)They contain stamens only (C) =¥ Faer W BRI
(D) They contain either stamens or carpels (D) 3 AT AT {HET AT F=T BT ¥
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45.

46.

47.

What is latent-heat of vaporization?

(A) Heat energy required to convert ice into
water completely without changing the
temperature

(B) Heat absorbed when & substance
changes phase from gas to liquid

(C)Heat energy required to convert water
into steam completely without changing
the temperature

(D)Heat released when a substance
changes phase from solid to liquid

The electron affinity while moving from left

to right in period

(A)decreases

(B)increases

(C)remains same

(D)approaches zero

Balance the following equation to find out

the value of P, Q, X, Y and Z.

P CO; + Q H20— X CgH1206 + Y O2 + Z H20

(reaction occurs in the presence of sunlight

and Chlorophyll)

(A)P=12 ; Q=12 ; X=6; Y=6 ; Z=6

(B)P=6; Q=12 ; X=1; Y=6 ; Z=1

(C)P=6; Q=12 ; X=1, Y=6 ; Z=6

(D)P=12; Q=6 : X=1; Y=6 ; Z=6

45.

46.

47.

TSR T [ FHEAT FAT 22
(A)Wmmﬁﬁgﬁmﬁqﬁﬁ
qfafifa F 2 AFETF FSAT Tl
(B)wwﬁmﬁﬁﬁmﬁm%wﬁ
FALT O FTEHT
(C)Wﬂﬁﬁﬁﬂqﬁﬁﬁ‘fﬁmﬁwﬁ
qfrafid T 3T AT FOAT TS
(D)Wwﬁwaﬁwﬁmﬁmﬁ%wﬁ

Fifore & AT & F(T A B AT FATET
aeaT (TR

(A)F BT ST

(B) &g AT €

(C) wHIH T &

(D) 97 7T 3 9T 7

P, Q, X,Y 3% Z FT T Tq FTA & (A0

P CO3 + Q H20- X CgH1206 + Y O2 + Z H20

(e T e 7 AR AT SqreAfa #
et 2)

(A)P=12; Q=12 ; X=6; Y=6 ; Z=6
(B)P=6 ; Q=12 ; X=1; Y=6 ; Z=1
(C)P=6 ; Q=12 ; X=1; Y=6; Z=6
(D)P=12 ; Q=6 : X=1; Y=6 ; Z=6
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48.

49.

50.

51

In the periodic tabie, the element that has

the highest electron affinity is

(A) Copper

(B) Chlorine

(C)lIron

(D)Mercury

Presbyopia is a refractive defect of visions

which arises due to

(A) gradual weakening of ciliary muscles
only

(B) diminishing flexibility of the eye lens only

(C)both gradual weakening of ciliary
muscles and diminishing flexibility of the
eye lens

(D)sudden dysfunction of ciliary muscles
and eye lens

In order to have a virtual image in a concave

mirror, the object should be placed

(A) between the focal point and behind the
mirror

(B) behind the focal point

(C)beyond the distance of the focal point

(D) between the focal point and mirror

Electric resistance is measured by a/an

(A) Ammeter

(B) Potentiometer

(C)Voltameter

(D) Ohmmeter

48.

49.

50.

51.

rerd IRl &, F19 § qe7 7 Igaw s
FeaT (TR et 32

(A) FfaT

(B) FAIE

(C) sz

(D)7

AT g T U e A I T A

e 10T & 2T 872

(A Ft Fferrdy wiea et F ooy Fusie
)

(B) =< < HW F F S gT AFTAIA F FTE0
(C)Zrat, farforrdY wiwrdforgt ¥ fiv-iv Fuae

B T g HF F FH 19 g AT
HTLT

(D) F&ferrt wiedfert siw s dw $r s
?

Feae 240 § v wefram sy o % R gy
FT FEl T@T AT AMRT?

(A) ¥ &g % i s ador % i
(B)F= g ¥ ey

C)yFEFgfichFar

(D)= foig o ador & i

THH | T A7 39 e wiadre wrar £2
(A) etz

(B) Meeariex

(C) AeerHiex

(D) wrgpeftex
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52.

53.

54.

55.

When a more reactive element replaces a

less reactive element from a compound, it is
(A)a double displacement reaction
(B) a displacement reaction
(C)both A& B
(D)neither A nor B
Why is Magnesium ribbon cleaned before
burning in air?
(A)to remove the layer of magnesium oxide
(B) because magnesium is not a reactive
metal
(C)to remove the layer of magnesium
dioxide
(D)because the layer of magnesium oxide is
unstable
What is the phenomenon behind the image
that you see in your pathroom mirror?
(A) Specular refraction
(B) Diffuse refraction
(C)Specular reflection
(D) Diffuse reflection
A blue coloured copper sulphate solution
turns green when an iron object is dipped
into it because of
(A) Release of oxygen molecules
(B) Formation of iron sulphate
(C)Release of sulphur molecules
(D)Change in pH

50, S Pl 2 & e st siafeede o=

53.

54.

55.

7 STfaTeier qed T w1 AT 8, 41 T8
(A)aﬁgﬁﬁwmqﬁﬁm%
(B)ﬁww‘:ri%fﬁmé

(C) A= B &l

(D) TATASRALB
aqﬁmmﬁﬁﬁﬁﬁmﬁmW%wﬁﬁm
it faT ST 272
(A)Wmﬁﬁgaﬁ%ﬁﬂ
(B)a'«’ﬂﬁﬁtﬁﬁﬂ@ﬁﬁmsﬁﬂ oTq T &
(©) v srestaTEs A g ¥

e g 3 vy A e e & Fordy o
arorew & 390 § 3@ 27

(A) TR ATTET

(B) ATa THTT

(C) T TTEAT

(D) T TETC

S 47 ¥ Yo weE F T & o A A A6
gﬁimﬁ%a‘rsﬁa@i‘wﬁmmglm
T[ET T FTE?

(A) Siterefier & gt 1 e
(B) I FohE FT TAAT

(C) FeT ¥ SAupEA 1 e
(D) pH & F=ema
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¥

56.

57.

Which of the following organ functions are
correctly matched?
(A) Gall bladder - Transports bile;

Liver- Releases insulin;

Pancreas- Stores bile;

Bile duct- Produces bile
(B) Gall bladder — Stores bile;

Liver — Produces bile;

Pancreas - Releases insulin;

Bile duct — Transports bile
(C)Gall bladder - Produces bile;

Liver — Stores bile;

Pancreas — Transports bile;

Bile duct — Releases insulin
(D)Gall bladder — Releases insulin;

Liver — Transports bile;

Pancreas — Produces bile;

Bile duct — Stores bile
If green coloured ferrous sulphate crystals
(FeS0s, 7TH20) are heated over a Bunsen
burner, the colour of the compound changes
with a characteristic smell. Identify the
products.
(A)Fe304(s), SO2(g) & SOs(g)
(B) Fe204(s), SO2(g) & SOs(g)
(C)Fe20s3(s) & SO2(g)
(D)Fe304(s) & SO3(g)

. S Y e o R w w & e At § 22

(A) fasmerT — for afiae,
ftere — gagfer S
o= Ui - o e,
iy iR — foy seafRr

(B) far=mer — oy g,

e — iy s,
T U1 — e s,
sy arfReT - R aftaea

(C) farrerT — fore 3eafr,;

e - I s,
T G - s afEe;
firr arfeshr - Sgfom e

(D) frsrmerT — o e,
e - I oiees,

T 3t — fosr e,
Oy arfReT - forey s

. 9 BY T ¥ R qene % e (FeSOs,

7H20) TF &&= a4 9 7 f T, o7 AR
T 1 U [AfOre ey F AT FE WA FAT ST
Iearar FY T FL qHS 87

(A)Fe304(s), SO2(g) & SO3(g)
(B) Fe20s(s), SO2(g) & SO3(g)
(C)Fe20s(s) & SOx(g)
(D)Fe304(s) & SO1(g)
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2

58. A Magnetic field is produced inside our body ~ 58. ST ST FX ST HITHT & AT T Tl &

when ion current travels along the nerve
cells. This magnetic field inside the body

AT gL 91T % 3iaY geahig &7 a7 ST 2|
SR ¥ sax a8 ey o o7 & fAfwer st
& gt YTH FLA FT AT a9GT 8 A A

forms the basis of obtaining the images of AT FT T FET AT 82
different body parts and this technique is
il (A) AT
(A)ECG
(B)NMR (B) TEAHAR
(C)MRI (C) TH.3E.ATE
(D) THEX
(D) X-ray
59. The sky is blue because of 59. sreRTer e o & e 2T 87
(A) Reflection (A) TTEdA
(B) Scattering (B) e
(C)Refraction (QEEELE]
(D) Dispersion (D) rhiofe
60. Vermiform appendix is @ /an 60. AHIEH @'@W TH
(A) Homologous organ (A) | W g
(B) Vestigial organ (B) srardt i &
(C)Analogous organ (C) FHET FTM
(D)Analytic organ (DREEEIERES
61. If the diameter of a circle is 7 cm, then 61. af ey = v = 7 F.AT R, A IA AT £
circumference of the circle is afefer fraet grft?
(A)5.5 cm (A)5.5 T4
(B)11 om (B)11 F4.
(C)22 cm (C)22 Fr.4t.
(D)44 cm (D)44 & .
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62.

63.

64.

65.

The population of a town is 176400. If it
increased at the rate of 5% per annum, what
was the population of the town 2 years ago?
(A) 160000

(B) 194481

(C)202100

(D)242354

A can finish a work in 18 daysand'B can do
the same work in half the time taken by A.
Then working together, what part of the
same work can they finish in a day?

(A)1/6

(B)1/9

(C)2/5

(D)2/7

The average of first 20 multiples of 7 is
(A)71.8

(B)72.6

(C)73.5

(D)73.9

The numerator of a fraction is half of the
denominator. If the numerator is increased
by 7 and denominator be diminished by 19,
the fraction equals 2. The fraction is
(A)7/14

(B)12/24

(C)15/30

(D)17/35

62.

63.

64.

65.

U FE Y STAEEAT 176400 B AfE TEAY ITE
2T 5% T a9 &, 47 2 a9 Ugel SAEEAr fHhadr
f1?

(A) 160000

(B) 194481

(C)202100

(D)242354

ATFFH Fr 18 RA & i B S FF FT A

T T U T & oy g G "Rl
21 T TT ATT FTH FLA g, T A F T

e o U R § @ i w62
(A)1/6

(B)1/9

(C)2/5

(D)2/7

7 3 TI| 20 IO HT AT §
(A)71.8

(B)72.6

(C)73.5

(D)73.9

e T T 39T, T AT AT 1 AT sfer F 7 Ay
iy $t STt & i 3T § 19 Y w1 Fir AT 8,
SEEPEREA RIS IR EC

(A)7/14

(B)12/24
(C)15/30
(D)17/35
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66. The ratio of 44(3.5) : 25 = 66.
(A)2:1
(B)4:1
(C)7:5
(D)7:10
67. In a 3 litre solution of water and salt, the 67.
percentage of salt is 40%. If 1 litre of water
is added to this solution then the percentage
of salt will be
(A)33%
(B)30%
(C)35%
(D)25%
68. After allowing a discount of 10% a seller 68.
wants to gain a profit of 20% by selling a
product. The percent by which the marked
price on the product should be raised above
the cost price is
(A)30%
(B)33.33%
(C)37.37%
(D)40%
69. The average of squares of first 20 69.
consecutive even numbers is
(A)282
(B)375
(C)574
(D)589

4735
(A)2:
(B)4:
(©)7:
(D)7:10
oY 3 T % 3 e o 7, T9F 1 99

40% 21 =fE =9 =ver 7 1 wfiex aret e sar
2, T TR, ohE AT ST FAT JEIT?

~

275 =T UTT =

S L T

(A)33%
(B)30%
(C)35%
(D)25%

10% B T U faomar Scare &t &t 92 20%
FATH FHTAT ATAT g1 AT T & FHIL IqTE HT
bt g v wivera s st =R E?

(A)30%

(B)33.33%

(C)37.37%

(D)40%

TR 20 FHITT TH SCATAT o a9 HT T
e g 82

(A)282

(B)375

(C)574

(D)589
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¥

70.

743

T

73.

A can do 1/3rd of a work in 5 days and B
can do 2/5th of the work in 10 days. In how

many days both A and B can do the work,
working together?

(A)7 3/4 days
(B)9 3/8 days
(C)8 3/7 days
(D)10 days

If the area of a square field is 196 sq.cm,

what will be the length of the fence to bind
this field?

(A)28 cm
(B)36 cm
(C)56 cm
(D)196 cm

nAac

A man’s age is three times that of his son.
12 years later the father's age will be double
the son’s age. The man’s present age is
(A)12 years
(B) 24 years
(C)36 years
(D)48 year
An aeroplane flies along the four sides of a
square at speeds of 200, 400, 600 and
800km/hr. The average speed of the plane
around the field is

(A) 200 km/hr

70.

T4

124

3

A TF 1 F7 1/3 9T 5 feq # F ahar ¢ i B
T T 2/5 9T 10 o7 & T Tehar 21 A T B
2t e fraw o9 § 39 &1 1 58?

(A)7 3/4 fa=
(B)9 3/8 fa=
(C)8 3/7 fa=
(Dy10 f&=

T U SRTTRTE {1 T et 196 o AT, &
T =8 HET =T AL &N ATl 9T 0 =T
et 82

(A) 28 #ft
(B) 36 =t
(C)56 &t
(D) 196 It

TF ATE T A 37F [ F A AT 81 12 39
12 fOaT 7 =g I9F T T g 7 (AT 27
STt =rRE i adaT g e 82
(A)12 7

(B)24 ad

(C)36 7w

(D)48 7

T argAT 200, 400, 600 ¥ 800 far.Hv./=.
it 7 & U =R T AR AT F AT
IS FXAT | AT o AT AT ATLITT T e
e et 872

(A)200 3.3t /=
(B) 256 km/hr (B)256 .=t /=
(C)384 km/hr (C)384 .1 /=
(D)500 km/hr (D)500 3.3 /5
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74. The diameters of the front wheel and rear 74, TF T % el 9w 7@t & = wmen

wheel of an engine are 70 cm and 168 cm 70 .47, 3 16§ .47, & Ree afey 19w
respectively. How many times the rear gﬁ ﬁiﬁw T ﬁi:f& :('){EET( T:; trr(I
wheel should fully rotate in order to cover %’7

the distance which the front wheel covers by
rotating 600 times?

(A)125 (A)125
(B)250 (B) 250
(C)500 (C)500
(D)750 (D)750

75. A cyclist covers a distance of 750 metres in ~ 75. HTa{®er s At =4 750 Hiew fit 7 2
2 min 30 sec. What is the speed of the e a0 ﬁ'}:ﬂg‘q # ‘Iﬁ ng STER F
cyclist in km/hr? A T R Ty 4
A)12 (A)12
()16 (B)16
(©)18 (C)18
()22 (D)22

76. If the area of an equilateral triangle may be ~ 76. % TF &7 07 &7 &=rher 39 v 7w o+
equal to that of a given square with a %W@WQWW?{W
diagonal of length 120 metres, then the 12080y, @ P L SR
length of a side of the triangle is il
(A)60v2 metres (A)60v2 Hrax
(B) 84.85 metres (B) 84.85 e
(C)120+3 metres (C)120v3 Hiex
(D) 128.95 metres (D) 128.95 ez
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il

78.

79

80.

Which number will complete the series if
filled in the blank space?

275,11, 23,47,
(A)93

(B)95

(C)96

(D)99

The ages of A, B and C'are 8 years

10 months, 15 years 6 months, 12 years

5 months respectively. Their average age is
(A) 10 years 2 months

(B) 12 years 3 months

(C)13 years 6 months

(D) 13 years 9 months ;

A rectangle of length 40 metres is bisected

by the diagonal of length 50 metres. The
area of each part is

(A) 150 sq.metres

(B)400 sq.metres

(C)600 sq.metres

(D)1200 sg.metres

The area of a circular field is 38.5 sq.metres.

The cost per metre of a rope is Rs. 5. What

77,

78.

79,

80.

REFeaT 9 ST 9% i &t & gaan
() 7 =T FEA?

2.5 11,23, 47, i

(A)93

(B)95

(C)96

(D)99

A, B T C #it sy #wer: 8 9 10 ATg, 15 99
6 WTg, 12 a9 5 #Tg 1 3T sfraa oy ot
EY4

(A)10 7 2 /T8

(B)12 7 3 Wrg

(C)13 & 6 wrg

(D)13 a9 9 wTE

40 T FAFTE FTH TF AT HT 50 HeT T8
EERERERIEGRERIR R R e Lo
&R &

(A) 150 7 Hiex

(B)400 = Hiex

(C)600 =T Hex

(D)1200 =7 HieT

T TATHRTE FETT AT &% 38.5 FTHIET &1
s et Fit afe fiex wrr 5 w9 g1 gt @

is the total cost of rope to fence its T TS T et AT Srt?
boundary?
(A)Rs.96.25 (A)96.25%
(B)Rs.192.50 (B)192.50 =
(C)Rs.55 (C)55 %
(D)Rs.110 (D)110 =
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81

82.

83.

84.

If a person incurs a loss of 25% by selling a
product at Rs. 150,the cost price of the
product is

(A)Rs. 125

(B)Rs. 175

(C)Rs. 200

(D)Rs. 225

If a retailer gained 16% profit by selling an
article at Rs. 40.60, then the cost price at
which he bought the article from the
wholesaler is

(A)Rs. 35

(B)Rs. 40

(C)Rs. 45

(D)Rs. 50

If an article is sold at the price which is 2/3
of a fixed price, there is a loss of 20%. What
is the percent gained, if it is sold at the fixed
price?

(A)20%

(B)25%

(C)30%

(D)35%

Which number will complete the series if
filled in the blank space?

315, . , 63, 127.

(A)30

(B) 31

(C)47

(D)52

81.

82.

83.

84.

7f¢ uF =RE #1150 & § UF 32 I 77
25% T =TT G &, T IS FT ANTT T
FraeT o2

(A)125 &

(B)175 =

(C)200 =

(D)225 =

AR U Gy Y 7 40.60 & ¥ UF a5 37
T 16% TTH FHAT 9T, TT IH TG HT AT

T 7 2 5T 92 389 =8 o1 = & g6
q7?

(A)35 &
(B)40 =
(C)45=
(D)50 =

a2 o aeg w et ge7 ¥ 2/3 77 7%
T T 7, AT 20% e grar &) At =
Freatfa qea o a=m s, &t fra wfier s
2rm?

(A)20%

(B)25%

(C)30%

(D)35%

e s S o A off e s
(HT) 7 o

3 T8 ... 168127

(A)30

(B) 31

(C)47

(D)52
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85.

86.

87.

88.

Which number will complete the series if
filled in the blank space?

81828487, ...

(A)88

(B)89

(C)90

(D)91

If 30% of A = 0.25 of B = 1/5th part of C,
thenA:B:C=

(A)10:12:15

(B)10:13:17

(€)10:12:13

(D)10.:12: 17

A train 220 metres long takes 20 seconds to
cross a platform 280 metres long. What is
the speed of the train?

(A)90 km/hr

(B)50.4 km/hr

(C)48 km/hr

(D)39.6 km/hr

If Rs. 672 is divided in the ratio 5 : 3, then
the greater part will be

85. TRheerT WX ST+ T i € " gaer

(FfrdreT) T q=T FEA?
81,82, 84,87, .......
(A)88
(B)89
(C)90
(D)91

. IfX A®T30%=B FT0.25 = C FT 1/5 AT &,

qA:B:C=

(A)10:12: 15
(B)10:13: 17
(€)10:12: 13
(D)10: 12 : 17

. 220 HieT et U 2 280 HST 7F W

T I HTT H 20 FF0SH FT THT AAT 21 27 A
it et 872

(A)90 .. /5
(B)50.4 f=. 4./
(C)48 fx.HY./e
(D)39.6 fF. Y./

. AfX 672 F F75: 3 F srqura # farawfora frar

SITAT &, A1 T=T AT =T gem?

(A)Rs. 252 (A)252 &
(B)Rs. 420 (B)420 &
(C)Rs. 572 (C)572 =
(D)Rs. 602 (D)602 =
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&Y FfeF % 19 FT 200 T # F7 F IS
ﬁglm@m@eﬁﬁwm%
Zarar 8 R ¥ T T §) TF A= T AT
F, % 7 3 R T A A §) AH HAW

o9. 1wu nen undortake to do a p('coo nf work 89
for Rs. 200. One alone can do it in 6 days,
other in 8 days. With the help of a boy they

finish it in 3 days. How much is the share of

framT 82
the boy?
(A)20 =
(A)Rs. 20
(B)25=
(B)Rs. 25
(C)o=
(C)Rs. 0
D)4Q:F i
(D)Rs. 40 O)0E, wa
90. While distributing a sum of money amonga  90. = % TE § FE I R e s
number of boys, a man finds that Rs.2 is left T, e =aftn arar & i A e 48 T R
if each one of them is given 48 paise, ST & Y 2 % A A g, g % 7 e
whereas 60 paise is needed if he pays 61 61 éﬂ}’ _;:‘T% ﬁ;rg :g\ﬁ e grfn
paise to each one of them. Find the number
(A)10
f b = VANEAS VIS
of boys (8)20
(A)10
(C)30
(B)20
(D)40
(C)30
(D)40
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91, "HIHAT" g FT F e T ¥ oy IaTEew 87
(A) =fRFaT=F |
(B) Srferam=ra €=
(C) HogaT= &
(DESEIEEREI

92, TEFT, HUA, FolE, [T A wrered # o
T T F gra &7
(A) TF

(B) &

(C) =

(D) =X

r 05 T THEHE

93. aT=7 ¥ fofe T &7

A= B3 SR
®) &= el
(C) =

(D) =

94, ' T FT T FAT ' T YETAL FT ALY 304 FAT 2
(A) FTETE BT

(B) waTE AT

(C) =gd =TT F=T

D EEEEE

96, TAH ¥ AT Ue% FT ITE FIAT 57
(A) T

®F

(C) st

(D) ®T

97. T ¥ T @rE ' 7w ATy 1 T A 82
(A) T

(B) =

(©) &

(D) =g

98. ‘I 9T5T FT TATTATHT 153 FAT &2
(A=

(B) o=a

(C) g

(D) Tt

99. ‘T 9153 FT AgIAT T 1 27?
(A) ==t
(B) =TsT
(C)=rE
(D) ==t

100. ‘ST 9163 FT 9ATea o1 TqTaT |

95, 'FHT FHAT TH YaTa¥ T 7 FAT1 8?2 (A) ZATHTIT T T
(A) F9T & =& ErT (B) ®read

(B) &4 greT (C) SrogereT AT AT
(C) Tl oy 9T efT (D) =Tt

(D) T HTTAT
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101. 0T Fit TG FT FIFAT AR Fg Thd 52
(A) SITITH SAAFTT

(B) BATIITH 31T

(ORLEEEEIS

(D) & ST

102. THTH T 93 FF Fd1AT |

(A) &aTH Fgd € e 2

(B) THTH H FH-T-HH T T T A 2raT gl
(C) =Wt &f¥ey T ToT 9 &1

(D) FHTH T AL I TF AT 2

103. "SITER" == T o Ao
(A) s

(B) STt

(C) STt

(D) STt

104. TATIEATHT ST53 AT AL ATH F4T 872
(A) et arez

(B) =f5 arsx

(C) T orex

(D) 7=t 9152

105. "T[UrETSF" FEATH F IITELVT TAH T HIwAT 22

(A) T
(B) F=
(C) 7=
(D) fi=

Direction for questions 106-120:

T[S ATHT T 37 T A7 T F7 9767 81 98 ATy
fSre# o AT AT T FTH AT 81 TP AT A §
ST EER WY & AT S B 1 TISTHTET
& T Frar {1 Tg wTuT A 9 T /O 9T
T ATIT F T AT HT WTETHE O @Al gl
AT IHEH TTT TAHTETLON T FEF (s T [T
Tt FITeraTT F owfa F|T g g0 av gehar
& ot 72t of & wear &, 70t ag oo Jor i off
B Fadt 213 i 2ot | oy orrere Y ofF 21 FEAT
IR et § oot B TrorATT F w9 §
& ot g1 ¢y fdaw 9o¥e € & 9 F
Hfaem & R &1 "rerar war Y w21 wfee fiy
T {0 F STTHTT THE HT F1F Feal & A7 [T &
oA STTaT 21 9T R 0 F et TsAt F gLy
FT FE AIA-T =T T TrorATeT A7 By F 4w
SIS § FT ST |eaT {16 3%3 F SET §9 Y
TrerATaT et e forf Ty 2nft | 2o s
THTL TIT =TT H1T HTHT et HT TETa =T 21
T 3%% H Tgafa & et S | Rt o
TART A F2 F e gy mam R

106. TIFATIT F WG AT F F 77 & Hre 47
AT e 872

(A) & Hifor graT 2

(B) |THTT ST HTOT &

(C) |T¥ et it T AT ¥

(D) STaT ¥ ATATATCHS TAT qiehiah AT 2

107. fR=dt srom v st wfea § fh arer
HIIdT 9TH 83 87

(A) 1947

(B) 1948

(C) 1949

(D) 1950
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108. 78 sg=aE 1 A § & 3fa ofids g
(A) TTSTTHTHT ST TFATIT

(B) ATEATHE WTHT

(C) SrHTST

P EEEIEEIELEN

109. T8 AT=F A1 H e A9 T AT A
T i 71 F+Hy T E?

(A) ATl &t ATaTen

(B) Rt s =t

(C) wfererfe= wruT &t

(D) =faror &Y sruT FHY

110, ST e STuT i e ST a9 i s e
HATIAT B2

(A) F=I=

(B) =Tt

(C) Tt

(D) fo=t

111, 87T 3¢ TRy Ry AT 7 s s
g F F T e Y AT w1 S 82
(A) Tt

(B) srermer ==t

(C) Trgufa

(D) #ITr: 77T

112, SATSTEY ¥ FT2 T F LIS F w7 F AT
s fRora 872

(A) Fw

(GREIEL

(C) iR=t

(D) Firsf

113, A a9 & Ry R Far w7 87
(A) = sFaT

(B) ¢4 rTEq

(C) =& SaH

(D) 2% frea

114, T2 ST % 9= U e # e anrer
w7

(A) FeTeaT st

(B) STATETAT WEw

(C) o =% T\

(D) ST TRTET AT

115. = ¥ Trerear B qor i Tt w1
Feag HFaH 32

(A) s &

(B) ®faem= &

(C) wifgrerm= & 3%3 ar &

(D) =Y &M= F it

116. TISTHATIT T 31 7 572
(A) Zor ¥ AToT

(B) 9T i ATT

(C) T =T T it ATHT
(D) frforrt & swrom
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117, &fFgma % 3 4T ¥ stata o 1 e
FTT el AT S # F7 7 oo 32

(A) aTT R %0

(B) &1 ¢Ro

(C) gm=T 3%3

(D) 9T=T 3%%

118. fawat s it forfdr #am 82
(A) mTa=

(B) TEATT

(C) =mzft

(D) @St

119, =7 & Fret g =y sy & forw srfeag
T a?

(A) 9T 200

(B) &1 230

(C) gmT 290

(D) amT 3%3

120. 7757 fAremHeat % w1 FeTT deet a7 57
Seerd wfeT Y B ey w7t 22

(A) T R %0

(B) amT 3%3

(C) gmT 3%%

(D) &=T 3%y
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Space for Rough Work:
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Instructions / fAger

Please read the following instructions carefully:

1. Write your Roll Number, Question Booklet Number and
Question Booklet Series on the OMR Answer Sheet
carefully and sign at the appropriate place. Please note
that in absence of the correct Roll number, Question
Booklet Number and Question Booklet Series and

Signature on the OMR Answer Sheet, your OMR Answer
Sheet will be treated as invalid and will not be evaluated.

2. Strictly follow the instructions given by the Centre
Superintendent / Centre Observer/ Room Invigilator and
instructions given on the Question Booklet.

3. Candidates are not allowed to carry any papers, notes,
books, calculators, cellular phones, scanning devices,
pagers etc. to the Examination Hall. Any candidate found
using, or in possession of such unauthorized material or
involved in copying or impersonation or adopting unfair
means or behaviors will be disqualified and may be
subjected to penal action.

4. This examination is of objective type. The question
Booklet contains a total of 120 questions and the total
time allotted is 120 minutes. All questions are compulsory
and carry 3 marks each. Every correct answer will get 3
marks and 1 mark will be deducted for each wrong
answer.

5. The candidates must check that the Question Booklet
has 120 questions with multiple choice answers. If any
discrepancy is found, immediately report to the Invigilator,
so that Question Booklet may be replaced.

6. Each objective question is followed by four answers
among which one is correct. Your task is to choose the
correct answer and mark your answer on the OMR
Answer Sheet, NOT on Question Booklet.

7. Completely darken the CIRCLE so that the alphabet
inside the CIRCLE is not visible. Darken only one circle for

each answer. The CORRECT and the WRONG method of
darkening the CIRCLE on the OMR answer sheet are
given in the example below:

Correct Method

Ce00

Wrong Method

Ce0e

000
O0®00
00®@O

8. Use black ink ball point pen for filling the boxes and
darkening the circle on OMR Answer Sheet. Do not use
pencil.

9. In view of the limited times span, do not waste your
time on a question which you find to be difficult. Go on
solving questions one by one and come back to difficult

questions at the end. It is only an advice.

10. Folding/ wrinkling or putting any unwanted mark or
damaging the OMR Answer sheet is prohibited. The
candidate will be responsible for invalidation of the OMR
Answer sheet for doing such deeds.

11. Space has been provided at the end of the Question
Booklet for rough work.

12. The OMR answer sheet will have to be submitted to
the invigilator after the examination. Candidates are
allowed to carry their Question Booklet from the
examination hall after the examination.

13. Questions are in Hindi and English. If any discrepancy
in either of the versions of question is present then that
question will be cancelled.
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